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Set d : 47071_83 13Aug18_Batch1_D El
Section 1 - Paperl-General English

1) Choose the right option to fill the blank:
The rode hard and fast over the plains to meet his
king.

A) night
B) nite

c) ki Techofworld.In

2) Choose the right option to fill the blank:
My mother likes gardening embroidery

A) therefore
B) still

C) and

D) hence

3) Choose the correct answer:
Heis a man.

A) descend
B) dissent
C) descent
D) decent

4) Choose the right option to fill the blank:
The painting was done ;

A) beauty

B) beauteous
C) beautiful
D) beautifully

5) Choose the right option to fill the blank:
She decided to a letter.

A) rite
B) wright
C) write
D) right
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Section 2 - Paperl-Education and General Awareness

6) The Earth’'s atmosphere is comprised of different layers
based on temperature. The coldestregion of the atmosphere
is:

A) Exosphere

B) Stratosphere
C) Themosphere
D) Mesosphere

8) 9291Q QIYAISRER SIIAIg 2gIR S8e 20 Q28 | QIgAama
AQV 218 YAT 69R&

A) 9F6RBARQ
B) 465139
C) aerdea
D) 6r6Rida

7) Identify the organization which was established by the
UGC in September 1994 for evaluating the performance of
the Universities and Colleges in India.

A) Council for Higher Education Accreditation

B) National Assessment and Accreditation Council
C) Organization of Accreditation service

D) National Board of Perfect Accreditation

7) QIQSER GYFYIRG 8 FZRMIPAFINES FVSIR RIFE K3
IR 1994 adel 626QQR IR YFS Tl TS FRAIRYS

ARG 580 203 |

A) QIRrda TR 219Q IF69de 2IGEeede

B) QUII9IR ZISAUEFE 9Q° 2I@6edn QIRadn
C) 29IRIReadq 2 2Ieeesar A

D) QUIQRIR 6915 AT AQCTR, 2IGEEEAR]

8) The disease of Goitre is common in hilly areas due to
which of the following reasons?

A) Low content of iodine in the water

B) Low content of sodium in the water
C) Low content of calcium in the water
D) Low content of phosphorous in water

8) BARYC 604 QIR IR AITIFEI ALREA IRCIS 6916 LR QUCR
6agQIg dFang ?

A) QIEEq AI6RIER FIg @F FINEQ
B) QlIdi6q 6QIG 9] QG K¢ @I981Q
C) QISieq IndLs] QI8 @ KISEIQ
D) QI§i6Q CraTraq FIgl @9 KIa8ig

9) Which of the following is NOT the function of NCTE?

A) Promote and conduct scientific research in various
areas of technical education

B) Take all necessary steps to prevent commercialisation
of teacher education

C) Co-ordinate and monitor teacher education and its
development in the country

D) Undertake surveys and studies relating to various
aspects of teacher education

9) FARYE FUQ 6REE YEATRR FIY 96T ?

A) 6G59%e JRI0 SO 6896a 6FRITR SIEQadI /Tlal 1e° 1RIg
69IQIEG 6QG!

B) 48 49IQ QAN 6a1R9 I AN IRIQ D6V
629

C) 62460 S 91 19 2I0 SR LEAFY 6 AN 2G|
D) §9e dae G6ie QE6RIK A06R ACATE B ZRISE QES

10) Who was the Chairman of the committee on emotional
integration organised by the Central Education Ministry of
India in 19617

A) Dr. Sachidanand
B) Dr. Sampurnanand
C) Dr. Sivanand

D) Dr. Satyanand
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10) 19616@ QIQOQ 621 S8 ORIREG FIAl LTS QRIS
IRA0E QTR Ul @9 gem ?

A) @ AFRIGR
B) @ agdiee
C) @. 9919

D) @. doiige

11) As per the Constitution (Seventy-third Amendment) Act,
1992, the superintendence, direction and control of the
preparation of electoral rolls for, and the conduct of, all
elections to the Panchayats shall be vested in:

A) Finance Commission of India

)
B) Central Planning Commission
C) State Planning Commission
D) State Election Commission

11) QRIS (692109 L6ARIA) 2RIFAS 1992 2QQI], AKIGS
FRAGRER NGRS ANL AEMER, AR 63IR B YIER LI, Fewse
g HRad @4 9069

A) NG TR 2SS

B) 698 6QIeq! el
C) QIgy 62 2IEAIS
D) QIgy Gelee 2Isad

12) Which of the following statement is TRUE regarding the
Fundamental Rights in India?

A) Fundamental are unlimited rights

B) Fundamental rights are absolute or unlimited rights

C) Fundamental rights are not absolute or unlimited rights
D) Fundamental rights are absolute rights

12) QU0G6R 6711 2RISR CAFER BIRYE FRIQ 604 @85 0]
2169 ?

A) 60150 2GRS QTS ZRIDIN 26T

B) 67llae 2/RI0gee Q4 291 2AKe 2RLIQ 26T
C) &flae 2RIegee 9d a9l 2A1fie 2RIR g6s
D) 6% 2RIegFe G4 2RI9IR 263

13) The scheme launched by the MHRD from the year 2014-
15 that aims at providing assistance for Advancement of
Girls participation in Technical Education Initiative is known
as:

A) Sabala

B) Mahila sadhikar
C) Stree shakthi
D) Pragati

13) 2014-15 QdQ €Ige AR QI8 ARIRE FIAl AR 621N
697 6QIRRITA Q1A Q29 UILIA AYY 620E 6T FNIEA 2°GgLE

QIR ARRIANGT 671ES QAR Fe163 ARSI 1T @RS |

A) A9
B) (8% YRIFIQ
C) 9146@
D) ga&

14) A review committee was set up in November 2002 under
the chairmanship of Prof. U.R.Rao, to review the functioning
of the AICTE. One of the main recommendations of this
committee was:

A) To attract candidates of high merit, scholarships should
be provided to PG students

B) Training for overseas teachers particularly from SAARC
and ASEAN countries

C) More vocational education institutions should be
opened to reduce the burden of the university

D) To control the number of techical institutions and the
intake of students more rigorously

14) @ewga 2002 69 JeTrda ©.210.018& 2UFLIER Q0e Qe

@76 IRdiae AKRIRIg APl RAQ AN QA8 gl | 9§
FECR 2AGHET gels uIGd /8 2wl ?

A) 9% 6QIGICIA0R SIRIZIFINING AeTe edel aiw, §F
RGBT IREY A @59

B) Q@208 S8a7Iee QIa 9584 64908 QIR 6 9daIg
Il

C) G98aIP0geas O1d 24 @8Ql AIR e ARIFRR JAIFIIR
6HIRITN AGQ

D) 634 QIQRIRAew Q6 Gaad @al 1e° IeaIgIRIeT
2@ 90K QU6R 693
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Section 3 - Paperl-Reasoning

15) What is the missing number in the given series?
62, 31, 54, 27,7, 23

com>
A OIO
) =~ W

15) 998 G968 @ Q1 T°HIT @4 26T ?
62, 31, 54, 27,7, 23

16) What is the missing number in the given series?
10, 18, ?, 66, 130

60
55

Snnr
Oy =
<o

16) 998 G768 @ 2RI AT @4 26T ?
10, 18, ?, 66, 130

A) 34
B) 160
C) 155
D) 68

17) If THOUGHT is coded as SGNTHIU, then how is
SEVENTH be coded

A) RDUDOUH
RDUDOVI

RDUDOUI

RDUDOUJ

e N

B
C
D

17) 98 THOUGHT @ SGNTHIU ®I6Q 6213 @9 @QIdIaE,
6069 SEVENTH q @9Q 619 99 aude

A) RDUDOUH
B) RDUDQVI
C) RDUDQUI
D) RDUDOUJ

18) Kriti is Omkar's wife's sister. How is Kriti's mother
related to Omkar's daughter?

A) (Paternal) Grandmother
B) Mother in law's daughter
C) Sisterin law's mother

D) (Maternal) Grandmother

18) @1& 62984 BrFIOW Y QA1 | V1E 7l (AN Faea
AUREE AEl 6T6S ?

A) 6866711 (QIaE All)
B) dig& 3

C) aIpte ql

D) 2i& (A Al

19) Harish is the father of Suman, Ketan and Hiten. Hiten's
wife is the mother of Rohit. How is Suman's father related
to Rohit?

A) Cousin

Son

Brother
Grandfather

B
C
D

19) 2814 6968E AR, 6R9F 1a° FerE QI | FEerE K1
620182 60IF0w ¢l | AR QI CAITOTA Q8 6269 7

A) LANG AR
B) Q2
C) aIR
D) 2@l
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20) " it rains heavily" is coded as "ch gh kh", " it rains often"
is coded as "gh sa kh" & " it poured heavily" is coded as "
kh ch mh". 'mh' is the code for

A) it

B) heavily
C) rains
D) poured

20) " it rains heavily” @ “ch gh kh" @I6<, " it rains often” @
"gh sa kh" @i6Q 99" it poured heavily” § " kh ch mh"
RUER 691G 9D FALIREG, 6069 'Mh’' 6RRYVIR 6R1Q VB 6LRE
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Section 4 - Paperl-Teaching Aptitude

21) One who is able to balance his emotions is called

A) Differently abled
B) Special child
C) Maladjusted
D) Well adjusted

21) 26299 AL OF VIPRR! 2SR FE QLRI ?

A) Gasa

B) G@6e18 €ig
C) 2A6QEe
D) QaqsQiae

22) Open schools are opened for those people who

A) don't like to take education seriously

B) are very busy so cannot come to school

C) are engaed in job or not able to come to school daily
D) beleng to the elite class and cannot come to school

22) €12 FQUIRA 6QEAINT UIR 6HINYIRE, 6ALFIEE

A) d919 goea 92 GeIE I

B) 2648 942 6 9@ 2ITAIG6R 9

C) 64163 CIRG60 Q18 2183 @)l 9FTe I 2ITQIg AV §e8
D) Qgie 6g41a @ Img 2GR FIE

23) Who said "Literacy is not the end of education not even
the beginning. It is one of the means whereby man and
women can be educated. Literacy in itself is no education.”

A) Vivekananda
B) Gandhi

C) Aurobindo
D) Nehru

23) "AIFAS| VA 2B G6L, IOFE TIQA F12 Q6% | 121 626F I
ARIA IR FIN JRF B FIRFIES TG 62RVIREL | AVAS!
6@16Q Al ges | 48l @9 *dg6R ?

A) G6QR19%
B) 4l

C) 2ede
D) 6529

24) To bring his class under control Mohan resorts to
spanking, slapping or pinching the students. He is giving
the students

A) Expulsion

B) Suspension

C) Restorative justice
D) Corporal punishment

24) 654109 FUR462 QY AR 671199 BIGSIFIAIRG AIR,
2196 @7 91 28 | 62 Iniw g6 @8 @98 ?

A4e

25) The Council of Scientific and Industrial Research
(CSIR) is

) a central government organization
) an international organization

) a state government organisation

)

A
B
C
D) a private organization

25) GRIe @ @eudie 8QanIe 9ada (CSIR) 628

A) 90 609 A0QIaw a°dl

B) 4@ 2I2qIge Q°ql

C) 9% QIgY AeRIeE A°Ql
) 99 96QIR Q°Q

D
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26) The CBSE was established in which year

A) 10" April 1962

B) 11" March 1962
C) 4" October 1962
D) 3" November 1962

26) IR 694 ¥ o9 FQULIRMI ?

A) 10~ April 1962

B) 11+ March 1962
C) 4- Octoberl962
D) 3 November 1962

27) Which one of the following teaching tactics is adopted
in Signal learning structure?

A) Presenting chain before the students

B) Practise correct responses to the mastery level

C) Help the learner to generalize and build rule

D) Helping in discriminating one category from another

27) doqia S84 Qrelka FIRHe AUQ 694 dSIRe aaIATq
28 FRAAIRAN ?

A) 218 AYSIEQ HF QLI QTR

B) §gd9I 2069 @F A0R 98aageq 2ayd aas|

C) dauEig AIRIQS 8 Faf F0R6a ALIYY FAS!

D) 69N 6€4I10IQ BIRUEFEQ 6RTRNIER ALIY @RS

28) A Student who is outgoing and very confident and
easily interacts with strangers is called

A) extraordinary
B) extrovert
C) introvert
D) ambivert

28) @64 FQuIg1 O 2AF0S QIBE 86 A2F6a T4 @l
62IRANER I9° G ] 2IATQIA OIF @4 GRIAN ?

A) 2ARIRE
B) Q@dsl1
C) zadqen
D) Q@Led!

29) The aim of education according to Sankhya yoga is

) emancipation

) emoticnal development
) practical living

)

A
B
C
D) self realization

29) $lISM6QIG AR JKIR QB D4l 269 ?

A) €9

B) RURRIGIG G4

C) URLIGR FIRRAR
D) 2 agng

30) Sarva Shiksha Abhiyan (SSA), which is the main
vehicle for implementation of the RTE Act. Under the SSA
offers

A) 60 days in-service training,30 days refresher course for
untrained teachers, 20 days orientation for freshly trained
recruits.

B) 30 days in-service training,20 days refresher course for
untrained teachers, 60 days orientation for freshly trained
recruits,

C) 90 days in-service training,30 days refresher course for
untrained teachers, 20 days orientation for freshly trained
recruits.

D) 20 days in-service training,60 days refresher course for
untrained teachers, 30 days orientation for freshly trained
recruits.

30) ASERI AGAIL (SSA) 6267 2050 2IQa AITHUFATR IS
AT | AL SSA ZRFER IIIF @QUAIREI

A) QIRQ6R QI d8ag 60 R GRS, 24eIRNYI9 d8R R
QI 30 @Rel GegaR AI0IGT, FRTER SIR 60a A8 AIRES!
dRew At 20 972 3aM6aay
B) ¢1506a 21l daae 30 G521 9Re, 2denadId IfaaRe
QIR 20 372 FeTAR TICIFS, FRTER SIFE 669 FYB ARSI
JRee QUE 60 G52 36rd69AQ
C) 9IaQ6a 2al d8eg 90 @02 GIRY, 260MAYIY JRRAIRS
Qi 30 @2 Gegaa AI0IGH, FTER SIRF 600 AYS AIReAl
JReE WG 20 QG2 36 69AR
D) 91@d6m gl daaqg 20 G52 Gl 24FIRAYE Jaenee
QIR 60 @72 FegAR TICIFT, FRTER SR 66R FYE ARSI
d9aw MG 30 Q52 65-9649]
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Section 5 - Paperll-Odia Language

31) ‘Qedf’ 694 ‘Q’ RUQAC 64U A26R QUIRO ?

A) aviakQ
B) Qe
C) frae
D) Qe

) ‘A8QQaI’- 48 22 QK QAR @ QIF cau|

p) TUQQRE
B) fcediQl 6a 899!
o) 68RaIQ a§ ae!

D) adal Qe adal

33) 96T 0§80 0@ ?

A) |06
p) QIORK

o 98
D) CURIR

5 cAW 49 O1R 9RF-90Ua OO AR GRIA Q6Q, OIY @A QRN ?

A) @6
B) cdide
[§a[lalal=}

Qe

C)
D)

35) % 06l Q80 6R6OR AAUA PR GFEA AUIRP 6R1Q ¥RIR 226a FF afeR AKT6R, OIQ 9’8 QRN ?

a) 9048
p) @aQd
c) Q¥
p) <4l
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36) S9UE Qaa adae Sl

a6t TeCh|

37) 2944 QAR 2| QAQIQ 6291 6QUITE A6 6QE 090 ALY ?

) QR Scaaa
) QEHVAQ F6aVa
)

W r

2AUAQ F6Ha4
D) YOO F6HWE

(9]

15) 00 ARAERIAT RER 6Q6 Q4 AYS 47

o

Ow >

)

)\
).;,
)8

o

30) ¢ orQ Qenia 60 cafidd| cauSe aat 6ed 8al?

p) 2969
Qe
4 24l
QeFQ

03]

)
C)
D)

40) ‘2RRE’ 40 QaQ1e AACARIQ 412 6 |
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‘Q6f ¥ad Qa1 Qe RIP 1’ - aNIGe aefa aeua fda eal
41)

Techofworl

c) FeauEe
Q6AIRQ

42) 66 99 YFQ 6TKId FRY QIIUQ RINQ QEIF 0IQ @’a QRN ?

) AERIeR 684y

g) 99RI0Q F6aay
) |PQIee Feaay
) QAR F6aaY

43) 087 4Q QIRIQ QRN ?

CRAaR 4Q QP fAdea

QYO A2 ATQE NEQ BFARQ QUARS 686Q
Q80 Al Q2 fHdca

QRIRY 969D Q6R

44) ‘2010 QY19’ 085 22 R Q8|

A) QeR QA
g) SAIER1A 22Q
o et a9

D) foR a6aIqYy

45) ‘aes aee QQI'Q €I 996Q 9K @Al

aeuane
A00%
cQaE Qe
ane

w >

)
)
)
)

o Q0

JoinUs-' > f
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Section 6 - Paperll-Mathematics

46) What number can be added to each of the two numbers
which are in the ratio 4:7, so that the ratio becomes equal to
7:8?

A) 16
B) 18
C) 19
D) 17

46) 4.7 291G 291 626 99T Q¢ QTG YEURTER 699 AT
6QI6 9al AIRAIGS, AL TREQ AFAIF 7:8 ATE AAIF 629 ?

A) 16
B) 18
C) 19
D) 17

47) If (2x+5y):(3x+5y) = 9:10, what is xy?

A) 517
B) 4:7
C) 57
D) 45

47) 98 (2x+5y):(3x+5y) = 9:10, 6668 Xy 60667

A) 5:17
B) 4.7
C) 57
D) 45

48) The corresponding angles to the left of a transversal
cutting two parallel lines are always

A) complementary angles
B) opposite

C) supplementary angles
D) equal

48) QG AAIBY 6RGIR 689 QQARI 9@ AGIIR QLS AGE
61690 AGEQER

A) AFYOR 616
B) Gaie
) 96gee 6118
)

e

a
Q
C

d
D) 4

49) If two sides of a triangle are equal then it is

A) an equilateral triangle
B) a regular triangle
C) an isosceles triangle
D) a scalene triangle

49) 93 66IITN GRFA QW QIT QIS 21N 696 9L

A) 98 AFQIg Soe
B) e QI9d 898
C) 4@ af §9Ig Gea
D) Y@ QQAQIg 5ge

50) Number of lines that can be drawn passing through 2
points is

) infinite
) three
)

)



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

51) A sum of Rs. 30000 is invested for 3 years at 7.5%
compound interest, what is the sum after one year?

A) Rs.32200
B) Rs.30500
C) Rs.32100
D) Rs.32250

51) 30000 6<1 3 @d QIR 7.5% 9998 QuI6Q 69 ARIGRI, 12!
QEe U6Q 67T 6R6T W1 629 ?

A
B
Cc
D

Rs.32200
Rs.30500
Rs.32100
Rs.32250

— o =

52) The square root of (4x%z* +12xyz? + 9y? ) is

52) (4x%z* +12xyz? + 9y? ) Q QFR 66

A) 2xz +y
B) +vy
C) 2xz? + 3y
D) 2xy + 3z

53) H.C.F of largest one digitodd number and smallest prime
number is

A

WN A -

)
)
)
)

oO0m

WtsApp/Call- 8596976190

53) 9@ 27 G99 2gq QRN Q¢ 8 Yo7 6615 AR 6.21G
6060 ?

A) 1
B) 4
Gy d
D) 3

54) If the equation »? - ax + 1 = 0 has two distinct roots, then
which of the following CANNOT be correct?

A) la|>2
B) |a| #2
C) la|=2
D) |a| <2

54) 9@ QA19QE X% - ax + 1 = 0 6Q §RG G2 IF 6&8, 6669

F6qI9 FRIQ 6986 OF 629 9IF ?

A) Ja] > 2
B) |a] #2
C) |a]=2
D) |aj<2

55) LetAisasetand B={1, 3}, C ={2, 3} are other two sets
suchthatANB,ANCand BN C are non-empty but AN B
M C is empty. Which of the following is possibly TRUE?

A) A={1,2 3}
B) A={1, 2}

C) A={3}

D) A =empty set

55) 6@ @6l A 6915 699 9° B = {1, 3}, C = { 2, 3} 6268 &y
QR 692G 6QUBF ANB,ANC NS BN C §a4 ge8 @3 AN B
N C ga4 2es | FeIv AR 6046 OR 6210a16a ?

A) A={1,2, 3}
B) A={1,2}
C) A={3}

D) A=ga4 699
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56) If p, q are the roots of the equation x2 + px+ g =0, then

Ay p=-2,9=0
B) p=1,q=-2
C)p=1,9=0
D)p=-2,9q=1

56) 9 p, g 62@@8 X + px + q = 0 AAIGAER IR, 6669

57) 2° V3 can be expressed as the surd

A) V96
B) V190
C) V180
D) V192

57) 23 V3 639 @41 QIS QU QARG

58) The product of LCM and HCF of two numbers is 7605. If
one number is 117, then other number is

fo )

5
3
7
5

289F

58) Q@& QIR RALG IS° 9.4l @ GITR 62a8 7605. AT
6GIIGN QG 117, 6969 294 QG 6269

A) 85
B) 13
C) 17
D) 65

59) The number of subsets of a set with 5 elements is

com®
= a W
[o) B0 NV

59) 5 QUIRIF QI 4@ 6AGQR 6R6EUIT ARG 6TIRAAIGL ?

A) 5
B) 32
C) 14
D) 16

60) What will the amount of Rs 10000 become after 2 years
at the rate of 9% compound interest per annum?

A) Rs. 11880
B) Rs. 11800
C) Rs. 10900
D) Rs. 11881

60) 10000 &1 2 od 06 QTR 9% 099R QI LI6R 6REC O
€2Q?

A) Rs. 11880
B) Rs. 11800
C) Rs. 10900
D) Rs. 11881
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Section 7 - Paperll-Social Science

61) In the beginning, the approximate rate of increase in
temperature for every 32 m increase in depth of earth is:

A) 10 degree Celsius
B) 3 degree Celsius
C) 5 degree Celsius
D) 1 degree Celsius

61) QS Ge6T ROR FIIER F64R 32 m §& AR FIAAIGIR
219615 9F 6208

A) 10 @91 6andaq
B) 3 &9 6andaq
C) 5 &gl eandaq
D) 1691 6andag

62) What are the hours before noon known as, which in
Latin means ‘before noon’?

A) Long meridiem
B) Pre meridiem

C) Post meridiem
D) Ante meridiem

62) 98 KEIISRI g K¢ ALK IR, AITIA AT QIBIER 22
6298 05 9o ?

A) e F2I1g 6Q9
B) 94 FRIZ 60l
C) zaqIg

D) g<I2

63) In which of the following types of faults the hanging wall
is lowered while the recumbent one is slightly lifted and the
fault is inclined in the direction of the lowered wall?

A) Normal fault
B) Reverse fault
C) Thrust fault
D) Shear fault

63) 50 Age 9 gee AUQ G12 6a6E - 6AR0IEA ¢RI FIR 87
¢ o2 2 , 60606967 @ 28 AIFS FIRE 28 77 AUeg 66@
62IR8IN 99° 6QF §F, G6R QI QIR AIPY 07 9F &N ?

A) adin ),
B) dead TR
C) g8 am,

D) deq o,

64) Who among the following appoints the Judge of the
High Court?

A) Govemor

B) Election Commissioner of India
C) Prime minister of India

D) President of India

64) A2 QNGQ FRINIGT @9 FgE TeF ?

A) QISR

B) @I0ea F9oe @fdea
C) QUQSR QUL A1

D) @I0eq QUFIS

65) Some of the states of India follow a bicameral system
wherein the legislature is divided into two separate houses.
The lower house is known as:

A) Legislative Assembly
B) Legislative Council
C) Council of States

D) Assembly House

65) QINER 6960R AIFY § - AT 4edl AQARE QAE - 6990
QIR A0 QAT ARG FR6R FAB 6LIFEIN | OF JTQ GRIAN

A) QuIe Qe

B) S¥Ie 9dge
C) QIxy 9Q9<
D) Qs A9
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66) Which of the following is an INCORRECT reason to
conserve natural resources?

A) To make the resources available for present and future
generations

B) To preserve different kinds of species

C) To maintain ecological balance for supporting life

D) To control experiments on alternate sources of energy

66) F6q)IB FIRG PER AUQ 629 JIQER AR A"V A5
Qm S04 B6e ?

A) Qerlie ¥&° 9RaIe Je1 AR A°U9q AURS AAIQS!
B) QR 9750 2088 K4S

C) SIG0NIa ATIAR 626 AR 659 AFRE QA AEQ!
D) §3Q Sag G2 AfE6a J918l A6 2gd ARSI

67) Who among the following freedom fighters coined the
slogan "Swaraj is my birth right and | shall have it"?

A) Bipin Chandra Pal

B) Lala Lajpat Rai

C) Bal Gangadhal Tilak

D) Subhash Chandra Bose

67) "I9S 691129 GAR 2RI I9° ] Y2Ig 219N @7 AT, 1@
Q8C &4 9267 QAT @G ?

A) Q3¢ 9g g

B) AIRI AURAS QUL
C) QI deFidQ e
D) guIS 05 691§,

68) Which among the following is the one of the important
discoveries of Neolithic age?

A) Use of Copper

B) Agriculture

C) Crude and unpolished tools
D) Fire

68) F67)IB FIR 6RRT §OF I2Q YIIA 1@ JRagd 2IFSIa 26T
?

A) GIF LY

B) 98

C) 26EIRIS YIQ° AFE QU
D) 28§

69) Who is regarded as the head of the Council of Ministers
in India?

A) Prime Minister of India

B) External Affairs Minister of India
C) President of India

D) Home Minister of India

69) QISEER (11 AR (& 69R & FEIIE?

A) SIRGR QIS a1F

B) QIQ0Q 65608 QUIdIQ 181
C) QIRGR UYL

D) @196 g2 fa1

70) Which of the following regions is known as Doldrums?

A) The equatorial low pressure belt
B) The sub polar low pressure belt
C) The subtropical high pressure belt
D) The polar high pressure belt

70) 691a GF| 691A 604 2ERG QRITN ?

A) Qg9 AR AYQID 2B
B) 601Q Facael ageld 28e
C) Q4 QB4 4QeIT ABR

D) 6719 HRER6! gROIT LR
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71) The term 'Constitution’ is derived from which of the
following languages?

A) Sanskrit
) Greek

) Persian
)

B
8=
D) Latin

71) 68Q QSIQ 'Constitution'(QRIF) 6106 aIFE ?

72) Who amaong the following freedom fighters was a
prominent leader of the 'Moderates' faction of Indian
National Congress?

A) Bipin Chandra Pal

)
B) Gopal Krishna Gokhale
C) Bal Gangadhar Tilak
D) Aurobindo Ghosh

72) G6QIR IR @4 VIGLIA FIVIL R6FY @ A9 T2 691 1R
P68 ARG 6501 Z6m?

A) G0 05 AR

B) 6QIIR Q8 69lIS6R
C) QIf GeFQ Oad
D) 21099 6§

73) The Mauryan Emperor Ashoka adopted Buddhism after
which of the following battles?

) Battle of Karnal

) Battle of Haldighati
) Battle of Kalinga
)

A
B
C
D) Battle of Panipat

73) 367118 696 Y& J6Q 66164 QGG 26HIR 691w A G2d
QReem ?

A) Q0R 98

B) 2adalc g8
C) QFa Qe
D) QiFa g&

74) Approximately how many kilometers (kms) on the
Earth's surface is equal to one degree of latitude?

A) 111 kms
B) 114 kms
C) 110 kms
D) 115kms

74) Q291 YRGS LAULIE 6260 FERINTQ 2GR 9@ GGl A2
aqR ?

A) 111 kms
B) 114 kms
C) 110 kms
D) 115 kms

75) The method of rainwater harvesting which can be
adopted by individual house owners and apartment
complexes is called:

A) Catchment-area rainwater harvesting
B) Terrace-top rainwater harvesting

C) Surface runoff harvesting

D) Roof-top rainwater harvesting

75) Qdiaw 2¢n 996 19 QIACIC 4R ARG 8 AIATEAS
JAQ0EQ SALIRAIRR, LR QRUAN :

A) 8% 924 69960 QUIFR AR
B) 2I¢ Qda QFIaR AR

C) QI9Y Qe &A@

D) 8I6 Q98 8I9e &Ae
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Section 8 - Paperll-Science

76) There is a certain relationship between two given words
on one side of :: and one word is given on another side of ::
while another word is to be found from the given
altemnatives, having the same relation with this word as the
words of the given pair bear. Choose the CORRECT
alternative.

Liver cell: hepatocyte :: Kidney cell: ?

Nephron
Osteoclast

76) Q @ Q1969 , 998 QBT TQ F6A IR Fad QNG @8, 1e°
1 QM QIF6Q R 99 QRINIRE ; 6U656R6R @ GRILIRS
3R9Q AN RG] 69T QIR 6RFQIg 629 , 69GY6R @ 62T 9
AR SRG A2 , 601560 FAYIRYQ 9@ YO @ AR FEG 2l
giesia | 0] & <l

dee : 6udIel dIRG | @9 6ald

A) 6] ARE

)

B) g469I] Q
C) 6969IQ
D) 2686 QS

77) The outer covering of a woody stem is called as
trunk
internode

climbers
bark

77) Q199 QEQIREG QRIKN

78) Which of the following structures are ABSENT in a
prokaryotic cell?

A) DNA

B) Plasma membrane
C) Ribosomes

D) Mitochondria

78) 767119 FRIQ 69Q °AGRIT 6YIRITBTR 69R 6@ @ &I ?

A) G9a

B) Qe Eq1
C) QIRERI6SIE
D) AIRssIagell

79) Momentum is a vector quantity and it is the product of
its mass and

A) acceleration
B) torque
C) gravity
D) velocity

79) Q°6RG 62QE U@ AGE ATAIE 9a° 92l Fae 9gR 8 -0
QYR 26¢

A) Q04

B) o @l 2Igd
C) ggaiady
D) a@sad

80) Calculate the work done, if a force of 9 N is acting upon
an object and the displacement recorded is at 8 m towards
the direction of the force.

A) 50J
B) 85J
C) 56/
D) 72
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80) 9@ Y@ 9g RUER Y @RS 97 9 N 249 98° PR GF6Q
39199 8 M 24, 6969 QIFY @ AGFFIS Q1Y FR |

A) 504

B) 85/
C) 56J
D) 72J

81) Bottled fruit juices appears to be clearer compared to
that made at home because

A) bottled juices are clarified by the use of pectinases and
streptokinase

B) bottled juices are clarified by the use of pectinases and
proteases

C) bottled juices are non-hygenic and diluted

D) due to nutrient loss that occur in its shelf life and
transport

81) 6QIEMEQ A2l TR O 49 GIR TR OIQ UAVGS
ORI FEITES KFIE

A) 6QIER AR 69521 8 68TETIRRI FIal AR
AR |

B) 6Qiom e 605919 8 69159 919 IAEIQ @aIdIRel |
C) 69100 T99d 919420 g6% 6 g9ae

D) 69960 Saa godl 8 989es O96R 6018 04 oF
62IRINEIIN

82) The chemical formula for limestone is

A) Ca(OH):
B) CaCO:

C) CaCOs

D) CaO

82) AIRFIEIIR | QAT TR 6298

A) Ca(OH)2
B) CaCO:z

C) CaCOs

D) CaO

WtsApp/Call- 8596976190

83) The given temperature of a given liquid is - 50°C
convert it into Fahrenheit.

A) 40°F
B) 30°F

C) - 38°F
D) - 58°F

83) 99 GaR TER 9] AR -50°C LIq TIEAR RS 6@
AREE [l

A) 40°F
B) 30°F

C) - 38°F
D) - 58°F

84) The valency of hydrogen is

A) 2
B) 4
c 1
D) 3

84) 2IR62165] Q 6QIFYSI 6228

A) 2
B) 4
oy 1
D) 3

85) A small amount of milk is used in curdling that

A) consists of bacteria which can convert milk into curd
and also aids in enhancing Vit B12

B) consists of bacteria which can convert milk into curd
and also aids in enhancing Vit B6

C) consists of bacteria which can convert milk into curd
and also helps in reducing Vit B12

D) consists of bacteria which can convert milk into curd
and also helps in reducing Vit B6
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85) @2 G213 QI9l 2 G QYRLE I AIEA ?

A) €26Q Q1KY AN QLI F1eg YL6R VLS P69 9e° Vit B12
Q86Q AIRIY REQ

B) 128Q Q114 &4 KI9l 910g 9260 AR89 @6Q 9.° Vit B6
QEEQ AIVICY QR

C) 9269 Q1914 AN QIR V1QG Q60 ARG F6R 99° Vit B12
QU6 AIRILY F6Q

D) g6 Q1] M QIgl 910g @F6a 9R6e K6a 9Q° Vit B6
A6R ALY F6R

86) A 5 kg body has an acceleration of 4 m/s?. What is the
net force acting on it?

A) 30N
B) 40 N
C) 10N
D) 20N

86) 9@ 5 kg 990 @0dl 6998 4 m/s? N2l QAER KA AQ2A
QAFQIT AR 6R6S ?

A) 30N
B) 40 N
C) 10N
D) 20N

87) Dry ice means the solidified form of

A) calcium carbonate
B) carbon oxide

C) hydrogen peroxide
D) carbon dioxide

87) 49Ml QAT LI 9K @08 Qd, GlRl 6Lml

A) 4R J2iR RIS

B) Q18R 2IgIeg

C) QIR681681 699 2IFIAR
D) QI9q @Ia AIgIaR

88) The temperature above which the gas cannot be
liquefied, no matter how high the pressure is applied. This
is known as

A) Critical density

B) Critical volume

C) Critical temperature
D) Critical pressure

88) 69R QIAFIGIA AF 69 6962 AF VIV TEAIG FER F1&l QI
GAR 2991g 28 gIQIF , QITIQ QI :

A) 929 A5
B) 929 AeUe
C) gIEe Qe
D) giga eld

89) What is actinomorphic symmetry in the flower?

A) flower can be divided into three equal radial halves by a
single vertical plane

B) flower cannot be divided into two equal radial halves in
any of the radial plane passing through the centre

C) flower can be divided into two similar halves by a single
vertical plane

D) flower can be divided into two equal radial halves in any
radial plane passing through the centre

89) TREQ AIRERIAITR JEAUCY 9T6R '€l QI ?

A) ZAQ 66IT @ F 6F FIGI AAIL GF VG *AIRAIER

B) 699 69@ 9694 @929l 0F 699 TIRl gRg 2°gd 9a QI8 @8
629 QI

C) gnq 66154 @ A 67 TRl AR 9R VY FALIRAIER

D) 6aLQ G004 62@ 2 9Q 9L 9F I8l Ing goWId
RALRAIER

90) Which among the following is an Prokaryotic Algae?
A) Green Algae
B) Brown Algae

C) Red Algae
D) Blue-Green Algae

90) FRge g 6996 gl cdale Z6e ?

A) Q99 6daIR
B) Q@ &8l
C) Q5 68QIR
D) 9ip-Age 6dim
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Question Paper No: 47071 83

Answer Key
& 3B 0l:D
Zi € 32.1 62.B
3. D 33.B 63.A
4. D 34.B 64.D
5 € 35:B 65 A
6. D 36.A 66.D
7. B 37.A 67.C
8. A 383.A 68.B
9. A 39.B 69.A
10.B 40.A 70.A
11.D 41.B 71.D
12.¢ 42D 72:B
13.D 43.B 73.C
14.D 44.D 74.A
15.D 45.B 75.D
16.A 46.D 76.C
€ 4.0 71D
18.D 48.D 78.D
19.D 49.C 79.D
20D 50.C 80.D
21.0 5l..D 81.B
22.C 52.C 824(
23.B 53.A 83.D
24.D 54.C 84.C
25.A 55.B 88.A
26.D 56.B 86.D
.8 ST 87)D
28.B 58.D 88.C
29.A 59.B 89.D
30.D 60.D 90.D
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